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Report of the Month

To learn more about where the elements are coming from, click here.
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Something went wrong in this F350’s 6.4L V-8 engine. Can you figure out what?
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A pattern of poor wear wasn’t new for this engine, but trends show that aluminum and iron were getting 

progressively worse. As it turns out, the engine had several issues. Two injectors were bad, which 

caused piston damage. Also, all the rocker arms were severely worn. With the rocker arms not seating 
the valves well, the cylinders were losing compression. The #8 cylinder was particularly worn -- the 

owner could see the hash marks (which help hold oil on the cylinder walls) were getting worn off. His 
only notice that there was a problem was a slight knock when the truck was warmed up -- and, of 

course, the analysis. 
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